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Q.1: P1: observation skill .__,JL‘H M' a:;‘.éj ‘)L‘u'.>’-| 2022/2023

Mark(s): 5/5

The figure below shows two bodies one cold and the other ' before and at
the thermal equilibrium, which table describes the average thermal energy
of the particles before and at the equilibrium?

AW Jgladl 6l esply=dl 01yl i g Jub 33919 30 Ldd rose Sl zuog
b=l OV ey Jd Wl L))yl ABlall Juas Casal

G Ol FE Jd PRSIV |

/\\/ / N

Learning Outcomes Covered

o PHY.6.1.02.012
o PHY.6.2.02.001

Qa= Qg Qp >QB

Before thermal equilibrium In thermal equilibrium
@l oyl Jis @l ol e
Qa >Qp Qa= Qp
Before thermal equilibrium In thermal equilibrium
Syhy=dl o1Vl Jus Syhy=dl o1Vl e



Before thermal equilibrium

)bl oVl s

In thermal equilibrium

L=l ol e

Qa >Qg

Qa< Qg

Before thermal equilibrium

Sl glpyl s

In thermal equilibrium

;b= oLVl ade

Qa< Qg

QA: QB




Q.2: P2:

thermal energy Mark(s): 5/5

When you turn on the hot water to wash dishes, the water pipes heat up. How
much thermal energy is absorbed by a copper water pipe with a mass of 3.3 kg
when its temperature is raised from 35.0°C to 80.0°C? (Ccopper = 385 J/(kg * K))

aﬂbxnﬁuﬂ,uaws¢guuﬂmj@b>&w;¢@p‘@uénduyoﬁuduuycusux;
€80.0°C 41 35.0°C (o diyly> dayd a3 Lodie 3.3 kg diliS gloed slo gl LguundSo (31
(Ceopper = 385 J/(kg * K))

Thermal Energy States of Matter
W = Fdcos(8) AE = Q = mCAT = mC(Ty —T)) b E
A
W = AE Q = tmHy
PVy BV

Learning Outcomes Covered

o PHY.6.2.02.004
o PHY.6.2.02.005

6370 J

2369



Q.3: P2: word done by gas

Mark(s): 5/5

A gas balloon absorbs 85 J of thermal energy. The balloon expands but stays
at the same temperature. How much work did the balloon do in expanding?

Lo .2 WS Bylymdl damys (s S0 g cyglldl dkaiy Aoy lymedl d8Uall e 85 ) L) gl S
Codedl dise Ol i U1 Jaadl Sl

W = Fdcos(8)
W = AE

1 2
KE; qns = smv

2

Learning Outcomes Covered

o PHY.6.2.02.001
o PHY.6.2.02.005

Thermal Energy

AE = Q = mCAT = mC(Ty —T;)

Q = +mHy

Q = tmHy

0J

170

States of Matter
g F
A
AVy B
Ty

PyVy = PV, , T constant




Q.4: P2:

heat transfer Mark(s): 5/5

How does heat transfer between the iron rod and the hand according to the
figure?

Tobiol (i) Wadg udl g dadudsdl Bl oy 8)lyaed! Jaais s

Learning Outcomes Covered

o PHY.6.2.02.001

Heat transfers from the rod to the hand by conduction

Heat transfers from the rod to the hand by convection

Szl Josdb adl I BLadl e Byl Jaxis

Heat transfers from the hand to the rod by conduction

o s30b Bladl J1 ol oy 81yl Jaais

Heat transfers from the rod to the hand by radiation
8"‘“3“-’ Al 1 Bl (e 8yl s



Q.5: P2:

heat Mark(s): 5/5

“The amount of heat required to raise the temperature of 1 kg of a substance
1 K.” which physical quantity is expressed in this definition?

48 61 "1 K i 1 kg Layldie 5aledl (pe AS 8y, Ay 23,0 eI syl yoell 5L
Syl e lge pag dbind

Learning Outcomes Covered

o PHY.6.2.02.001

Specific heat
e gl 8y

Heat of fusion
Sl Bl

Heat of vaporisation

sl B)ly>

Heat of freezing
Jazi! 8yl y>



Q.6: P2: thermodynamics

Which device does this heat diagram represent?

SUSIL ma gl aslaiil) e )l abiay Slea 4

Hot reservoir at Ty Ty e 0le pagias

o... l

Learning Outcomes Covered

o PHY.6.2.02.001
o PHY.6.2.02.005

Heat generator
Sy Mo

Heat engine
b= o

Refrigerator

Electrical pump

Mark(s): 5/5



Q.7: P1: comparing skill

Mark(s): 5/5

Two identical forklifts raise two loads with same masses a distance of 1 m.
the blue forklift raises the load in 9 seconds, and the orange forklift raises

]

the load in 5 seconds, which forklift develops more power?

dxdl))l 285 drlg e Adluned ASH i o) (il ga Oladys Olililaie OLS g Olindl)
Slenlsh 5 & Ugand! 15101 A8gadl dadll 28,5 aiws 095 9 (§ U gaxdl ¢18)3)1 A8 gl
§ ST 5)ud Bass cpuadlyl

F=900N

Learning Outcomes Coverea

o PHY.6.2.03.006

The orange forklift
AW ) A i) il )

The blue forklift
£l 311 A gl dadl )

Both develops the same power
B yaal) (yued jlasss Lealils

Can’t be determined without knowing the mass




Q.8: P2: specific heat Mark(s): 5/5

A 0.10 Kg aluminium block at 110.0°C is placed in 0.10 Kg of water at 12.0°C.
The final temperature of the mixture is 30.0°C. What is the specific heat of the
aluminium? (Cwater = 4180 J/(kg * K))

s sloll (30 0.10 Kg § 110.0°C bl 4> 0.10 Kg giliS pgiell dakad puio g3
S p gl A 930l 85,2l (Lo 30.0°C Jadsell &81g1 8l damys @S5 12.0°C 8l
(CWater =4180 .I/(kg - K))

Thermal Energy States of Matter
W = Fdcos(8) AE = Q = mCAT = mC(Ty —T)) b E
A
W = AE Q = tmHy
PVy BV

Learning Outcomes Covered

o PHY.6.2.02.004
o PHY.6.2.02.005

1000 J/(kg * K)

33J/(kg * K)

369 J/(kg * K)



Q.9: P1: compare

Mark(s): 5/5

Which of the following substances are fluids?

T a5lge AJWI Sl gall (S

A B
C D
Learning Outcomes Covered
o PHY.6.2.02.001
[ 1
1 1
a. | i
; A and D ;
b.
Band C
C.
Cand A
d.
D and C




Q.10: P2: work Mark(s): 5/5

In which of the following cases the work done quals zero?

e S9luw Jgduall Jaad! 0950 &AW ol T 3

Learning Outcomes Covered

o

o PHY.6.2.03.001

D









Q.11: P1: dimensional analysis skill Mark(s): 5/5

The Sl unit of work is called a joule (J). What does one joule is equal to?

Galgll Jozel (Sl 13ke (J)J g2l Jaidl (ol (J gl pUaidl Busg (o

Learning Outcomes Covered

o PHY.6.1.01.003

al i
; 1IN -=m i
b.
1 N/m
C.
1N = m?
d.
1 N/m?



Q.12: P2: work and force Mark(s): 5/5

A rope is used to pull a metal box a distance of 20.0 m across the floor. The
rope is held at an angle of 50.0° with the floor, and a force of 303 N is applied
to the rope. How much work does the rope do on the box?

Uogrpn Jumdl 08138 . 29 (Ae 20.0 m Al Jukan Badine o (3 Jam poseiuw
Ao G Jaad) Hlide d (Jad| § 303 N Wyl 543 3559 (291 (de 50.0° gl

S Bgkuall e Juzdl
«od
50.0°
Learning Outcomes Covered o
o PHY.6.2.03.001
al :
i 3895 J i
b.
4642 )
c.
6060 J
d.
303000 J



Q.13: P2: absol

Learning O

Which of the following celestial object’s temperatures is scientifically not

correct?
I Tloake e pd AL Dglowd) plul Byly ilomys o S
\
| | -230°C -1950(C
Rt o5yl

Neptune Uranus
-140°C -2800°C
Jda sk
° PHY Saturn Pluto
o PHY

Neptune

O

Saturn

>

Uranus
B UL

Mark(s): 5/5



Q.14: P1

Learni
243 : -
/61,700 395,700 813,700 ‘3,073,000
A
° () ) a8 lal)
a.
373
b.
323
c!
: 273
d.
100

: reading graphs Mark(s): 0/5

As per the graph, what is the water boiling point in K?

cun.sﬁ..lp-y slall Ole dlads le c“;lﬁ“ M LE.'Qj

cloll &)l o 4Bl A8LS)

373

323

(K) 3)1;_&1 FESTE]

273




Q.15: P2: pressure

A 0.5 kg physics book with dimensions of 0.26 mand 0.22 m is at rest on a
table, what pressure is applied by the book on the table?

digday sl aaall b gl (Je 0.22m 90.26 m bl 0.95 kg ailsS ebnd QS ausg
Sdglall Je oSl

Mark(s): 5/5

g=9.8m/s?
Module (10) Energy and It's Conservation Module (7) Gravitation Module (12) States of Matter
= £
W = Fdcos(8) (TA)Z (r4)3 P = .
W = AE Tg/ ~ \ip
PV PVs

Learning Outcomes Covered

o PHY.6.2.03.001

16.6 Pa

602 Pa




Q.16: P1

: remembering skills Mark(s): 5/5

According to the Work — Energy Theorem, which of the following is not
correct?

Sruoo b JWI e ST @)l - Jasdl &,a5 e Islazel

Learning Outcomes Covered

o PHY.6.2.03.002

If the external world does work on a system, then W is negative, and the
energy of the system decreases.

alai)l 48l aslxs Wl 0sSe W Jiadl 0 aladl de Jids (2l Qi ol 13]

Work done on a system is equal to the change in the system's energy.
pladl Blo (§ _asdl Sl b pllas e Jgduall Jaidl

If the external world does work on a system, then W is positive, and the
energy of the system increases.

AUal B 313539 Lirge 0550 W Jaddl 0 cplladd! e Jis znyldl @l a6 13]

If a system does work on the external world, then W is negative, and the
energy of the system decrease
pUadl 28l aslass Wl 0550 W Jiadl 0 ¢ 2yl Jaall e Jido pliaidl ol6 13)



